1064-15
1064-20
1064-25
1064-32
1064-40
1064-50
1064-65
1064-80

1065-15
1065-20
1065-25
1065-32
1065-40
1065-50
1065-65
1065-80



W 270y NISVYRBISIY

(SAEINMTL vy v—2U—2X)
1131¥U—=X

FE R Fe SS400 - SUSHiE
8 e P
T ~[-0:2
% 2
O By 2701k
m & Y D =0
"02R AZ5
4 O02R
n =
' | 5]
e
L - 0_2+g_1
- E ul
R B | A BTG A TR L adnG | EE s K Sy .
1131-15 Y | 476 | 564 182 | 405 18 5 e 47 ) 9 | 254 | AS568—210
1131-20 % | 604 714 238 508 20 10 | 27.7 | 190 | 3 11 | 31.75 | AS568—214
1131-25 1 | 699 | 81.0| 278 | 57.2 | 25 10 | 345 | 254 | 3 13 | 39.62 | AS568—219
1131-32 1% | 77.8| 953 31.8 | 667 | 25 14 | 432 [ 318 | 3 | 15 | 4445 | AS6568—222
1131-40 1% | 953 |1127| 365 | 794 | 30 | 19 |[49.1 [381 | 3 | 175 | 5372 | AS568—225
1131-50 2  |1143 1334 445 | 968 | 40 22 | 61.1 | 508 | 4 | 215 | 63.25 | AS568—228
1131-65 25 |149.2 | 1746 58.7 (1238 | 45 27 | 771 | 635 | 4 | 235 | 76.07 | AS568—232
1131-80 3 177.8 | 2159 | 714 [1524 | 55 35 1901 762 | 4 32 | 91.82 | AS568—237

ATVY NISVIYREIS VY

(SAEI\MTLy Y v—YU—2X)
1132y U—X

4—K$“/“ +Fr-
|
&) T
a=E o s
7
h 4 (:LD
te- C -
- A " E
e . o - [ - 00 e oy Y - F |G | oH | | | Kx¥ |[FvyTKit
1132-15 % 476 564 182 | 405 | 18 8 | 222 | 127 | 3 | M8X126x35, M8 X35
1132-20 % | 604 | 714/| 238 | 508 |20 10 | 277 | 19.0 | 3 | MIOX15X40| M10X40
1132-25 1. | 69.9| 81.0| 278 | 572 |25 10 | 345 | 254 | 3 |MI2X175X50| M12X50
1132-32 14 778 | 953 | 318 | 66.7 |25 14 | 432 | 318 | 3 | MI4X20X50| M14X50
1132-40 1% | 953 1127 | 365 | 79.4 |30 19 | 49.1 | 38.1 | 3 | MI6X20X60| M16X60
1132-50 2 11143 |1334 445 96.8 40 22 | 61.1 | 508 | 4 | M20X25X75  M20X75
1132-65 25 1492 | 1746 | 587 1238 45 27 | 771 | 635 | 4 | M22X25X85| M22X85
1132-80 3 177.8 | 2159 | 714 | 1524 |55 35 1 90.1 | 762 | 4 | M30X35X105 M30X105

EiLZH LIZRC(PT) B BHERL £7.




	sprit-1
	sprit-2



